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#!c:\Dwimperl\perl\bin

Author: Jordan Schoenfeld;

"Contracts between Firms and Shareholders";

Journal of Accounting Research;

# Description: This file produces a pipe-delimited data set that identifies whether a
13D contains a shareholder contract and the other attributes of the contracts. Results
are printed to FILE2 as defined below.;

EREE

# First create list of all files in subdirectories;
use File::Find;

use HTML::Strip;

use List::MoreUtils 'true'

# This is the directory where I want to look for all the 13D files.;
my Slocaldir = 'D:\jordan\datal\edgar\13\new 13d';

# This is where I store the list of file names in the $localdir.;
my Sfilelist = 'D:\jordan\datal\edgar\13\new 13d results\filelist.txt';

# This is where I put the results.;
my Sresultfile = 'D:\Jjordan\data\edgar\13\new 13d results\results.txt';

# Now parse through all the individual files using the locations in the text file I

made above;

# FILE2 is where I write the results to. This will wipe out whatever is in FILEZ2.;

open FILE2, ">", Sresultfile or dieS!;

# Print column headings;

print FILE2

"filename| filetype|doccount|target cik|target name|target city|target state]|target zip|ta
rget cusip|target cusip2|filer cik|filer name|filer cityl|filer state|filer zip|lines|word
s|chars|filedate|conformdate|dateofchange|investor agreement|investment contract]|stockhol
der contract|cooperation|rights|exchange|covenant|investor contract|any agreement|contrac
t|support agreement|investment agreement|stockholder agreement|merger|acquisition]|tender|
tender offer|shelf|block size|compensation]|exec compensation|salary|source sc|source bk|s
ource af|source wc|source pflsource oolreporting type bd|reporting type bk|reporting type
_ldlclreporting type iv|reporting type ial|reporting type epl|reporting type hc|reporting typ
e salreporting type cplreporting type co|reporting type pn|reporting type in|reporting ty
pe ool fcovenant|acovenant |ncovenant|info confidential|info confidentialityl|info informati
onrights|info accessandinfo|info accesstoinfolinfo accesstodocs|info visitinspect|info co
mmunication|info communicate|info communicationacct|info ndalinfo fullaccess|info books|i
nvestment purpose]|shareholder contract|roa|roe|net income|earnings|revenue|sales|cash flo
w|interest coverage|interest|net worth|debt|leverage|current ratio|debt to equity|assets|
debt to cash flow|ebit|ebitda|debt service|book value|shareholder agreement|dividend|payo
ut |distribut\n";

# Set skip equal to 1 if you want the script to analyze only a subset of 13D filings
($skip = 0 is the default).;
Sskip = 05
if (Sskip == 0) {
# Create list of all files within the directory and subdirectories of $localdir;
open FILE3, ">", Sfilelist or dieS!;
# This looks into S$localdir and returns the path to all files in that folder and
its subfolders;
find(
sub {print FILE3 SFile::Find::name, "\n" if /\.txt$/}, Slocaldir);
close (FILE3);
}

# Now we analyze all the files in FILEA4.;
open FILE4, "<", Sfilelist or dieS!;
# Determine number of files that need to be parsed in the filelist file.;
Stotallines = 0;
while (<FILE4>) {
Stotallines++;
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close (FILE4);

# Open the file containing the list of files to be parsed.;
open FILE4, "<", Sfilelist or dieS!;
Sfilecount = 0; # This is used to keep track of how many files have been parsed;

# Now we start processing each 13D at a time (the code at the end of this file creates
one observation row for each 13D).;
while (<FILE4>) {
open (RES, S ) or die "could not open $ \n";
Sfilecount++;
#### Reset ALL the variables for each 13D as they are processed here.;
my (Slines, Swords, Schars) = (0,0,0);
my Sfilename = $ ;
Sfilename =~ s/\s*$//; # Take file name and trim whitespace from the right;
$filedate = '.';
Sconformdate = '."';
Sdateofchange = '.';
$doccount = '.';
$cik num = '.';
$cik num filer = '.';
Sfirst cik = 0;
$first name = 0;
Sfirst zip = 0;
Scount = 0;
Scount2 = 0;
Sfls = 05
$item info = '.';
S$item info2 YL
$item info3 Ly
$item info4 YL
$item info5 Ly
$item info6 Ly
S$item info7 YL
$item info8 Ly
S$item info9 = '.';
$item infol0 = '.';
$item infoll YL
S$item infol2 = '.';
$item infol2 search = '.';
$item infol2 count = 0;
Sagreement = 0;
Scooperation = 0;
Srights = 0;
Sexchange = 0;
$covenant = 0;
Sany agreement = 0;
$Scontract = 0;
Smerger = 0;
Sacquisition = 0;
Stender = 0;
Sshelf = 0;
S$support agreement = 0;
$investment agreement = 0;
Sclean2 = '.';
Spercent extract =
Spercent count = 0
Spercent search =
Stender offer = 0;
Scompensation = 0;
Ssalary = 0;
Sexec compensation = 0;
$stockholder agreement = 0 ;
$fund source count = 0;
$fund source search = 0;
$source of funds = '.';

|l T .
. ’

0;
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Ssource sc =
Ssource bk =
Ssource af =
$source wc =
Ssource pf =

~.

. Ne

’

’

O O O O o

’

Ssource oo = 0;
type count = 0;
type search

Sreporting
Sreporting

Sreporting type =
Sreporting type bd
Sreporting type bk
Sreporting type ic
Sreporting type iv
Sreporting type ia
Sreporting type ep
Sreporting type hc
Sreporting type sa
Sreporting type cp
Sreporting type co
Sreporting type pn
Sreporting type in
Sreporting type oo
Sfcovenant = 0;
Sacovenant = 0;
Sncovenant = 0;

$info confi

$info confidentiality
$info informationright
$info_accessandinfo

$info_acces
$info_acces
$info visit

$info communication

dential

stoinfo
stodocs
inspect

Ne Ne Ne Ne N

.« Ne

Ne Ne Ne Ne N

ocNeoNoNoNoNoNolNololNolNolNoRol N
~

~.

0

n~.

S
0
0;
0;
O.

$info communicate = 0;
$info communicationacct

$info nda =
$info fulla
$info books

07
ccess =
= 0;

0;

O .

’

’

$investment purpose = 0;

$shareholder contract
$stockholder contract

$investor contract = 0;
S$investment contract
$shareholder agreement
(see pg.

# Accountin
Sroa = 0;

Sroe = 0;

Snet income
Searnings =
Srevenue =
Ssales = 0;

g terms

= 0;
0;
0;

Scash flow = 0;

Sinterest coverage
Sinterest = 0;
Snet worth = 0;
Sdebt = 0;
Sleverage = 0;

Scurrent ratio = 0;
O .

Sdebt to equity =
Sassets = 0;
$debt to cash flow
Sebit = 0;
Sebitda = 0;
Sdebt service
S$book value =
Sdividend = 0;

= 0;
0;

’

0;

0;

0

0;

0;
0;

’

0;

1101 Dichev and Skinner,



177 Spayout = 0;

178 Sdistribut = 0;
179 # Set counts that stop from parsing for CIK, etc. when these items have already
been found in the code below;

180 Sdonel = 0;
181 Sdone2 = 0;
182 Sdonel3 = 0;
183 Sdoned = 0;
184 Sdoneb = 0;
185 Sdonet = 0;
186 Sdone7 = 0;
187 Sdone8 = 0;
188 Sdone9 = 0;
189 Sdonel0 = 0;
190 Sdonell = 0;
191 Sdonel2 = 0;
192 Sdonel3 = 0;
193 Sdoneld = 0;
194 Sdonel5 = 0;
195 Sdonelo = 0;
196 Sdonel7 = 0;
197 Sdonel8 = 0;
198 Sdonel9 = 0;
199 Sdone20 = 0;
200 Sdone2l = 0;
201 Sdone22 = 0;
202 Sdone23 = 0;
203 Sdone24 = 0;
204 Sdone25 = 0;
205 Sdone26 = 0;
206 Sdone27 = 0;
207 Sdone28 = 0;
208 Sdone29 = 0;
209 Sdone30 = 0;
210 Sdone3l = 0;
211 Sdone32 = 0;
212 Sdone33 = 0;
213 Sdone34 = 0;
214 Sdone35 = 0;
215 Sdone36 = 0;
216 Sdone37 = 0;
217 Sdone38 = 0;
218 Sdone39 = 0;
219 Sdoned0 = 0;
220 Sdonedl = 0;
221 Sdoned2 = 0;
222 Sdoned3 = 0;
223 Sdonedd = 0;
224 Sdoned5 = 0;
225 Sdonedo = 0;
226 Sdoned7 = 0;
227 Sdoned8 = 0;
228 Sdoned9 = 0;
229 Sdone50 = 0;
230 Sdoneb51 = 0;
231 Sdoneb52 = 0;
232 Sdoneb53 = 0;
233 Sdoneb54 = 0;
234 Sdoneb5 = 0;
235 Sdoneb56 = 0;
236 Sdoneb57 = 0;
237 Sdoneb58 = 0;
238 Sdoneb59 = 0;
239 Sdoneoc0 = 0;
240 Sdonebl = 0;
241 Sdone62 = 0;



242 Sdone63 = 0;
243 Sdone6d = 0;
244 Sdone65 = 0;
245 Sdone66 = 0;
246 Sdone67 = 0;
247 Sdone68 = 0;
248 Sdone69 = 0;
249 Sdone70 = 0;
250 Sdone7l = 0;
251 $done72 = 0;
252 $done73 = 0;
253 Sdone74 = 0;
254 $done75 = 0;
255 Sdone76 = 0;
256 Sdone77 = 0;
257 $done78 = 0;
258 Sdone79 = 0;
259 Sdone80 = 0;
260 Sdone81 = 0;
261 $done82 = 0;
262 Sdone83 = 0;
263 Sdone84 = 0;
264 Sdone85 = 0;
265 # Begin reading in each line from opened file;
266 while (<RES>) {
267 # First I need to make sure that I avoid PDFs and JPGs embedded within the
files, which show up as long strings of garbled text;
268 # Split $ by space and if that is greater than 55 assume it is garbled.;
269 @garblecheck = split / /, $ ;
270 if (length(Sgarblecheck[0]) > 50) {
271 next;
272 }
273 # Strip html as each line is read in;
274 my Shs = HTML::Strip->new();
275 my Sclean = Shs->parse(S );
276 Shs=>eof;
277 # End html strip;
278 chomp Sclean;
279 # Trim white spaces horizontally and vertically;
280 Sclean =~ s/[\h\v]+/ /g;
281 # Remove non-UTF8 chars;
282 Sclean =~ s/["[:ascii:]11{2}(.*2[ 1{3})/$1 /g;
283 # Create line, character, and words count;
284 Slines++;
285 Schars += length(Sclean);
286 Swords 4= scalar(split(/\s+/, Sclean));
287 # This tells the program to differentiate between target and filer CIK;
288 Sfirst cik = 0;
289 $first name = 0;
290 Sfirst zip = 0;
291 # @wordsplit = split(/ /, S$clean);
292 # Split sentence into an array by period, space, etc. so I can use word
dictionaries later;
293 @wordsplit = split /[., ,:,;, (), !, \,1+/, Sclean;
294 Sslength = length Sclean;
295 # Extract document identifier information.
296 # NOTE: these data will be cross-checked later (in SAS) with data from
WRDS SEC Analytics.;
297 # NOTE: the code segments below simply repeat themselves with each
segment extracting a new piece of data from the filing.;
298 if (Scount == 0)
299 {
300 if ((index(S5clean, 'FILED AS OF DATE:') = -1) && Scount == 0 &&
Sdonel == 0) {
301 Sfiledate = $clean;

302 S$filedate =~ s/["0-9]1//9;
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Sdonel = 1;
if (sfiledate eq "")
{
Sfiledate = '.';
}
}
if ((index(S5clean, 'CONFORMED PERIOD OF REPORT:') != -1) && Scount
== 0 && Sdone?2 == 0) {
Sconformdate = S$clean;
Sconformdate =~ s/[*0-9]//g;
Sdone2 = 1;
if (Sconformdate eq "")
{
Sconformdate = '.';
}

}
if ((index(Sclean, 'PUBLIC DOCUMENT COUNT:') '= -=1) && Scount ==

&& Sdone3 == 0) {
Sdoccount = $clean;
$doccount =~ s/["0-9]1//9;
Sdone3 == 1;
if (Sdoccount eq "")
{
Sdoccount = '.';
}
}
if ((index(Sclean, 'CENTRAL INDEX KEY:') = -1) && Scount == 0 &&
Sdoned == 0) {
$cik num = Sclean;
$cik num =~ s/["0-9]//g;
Sdoned = 1;
sfirst cik = 1;
if (Scik num eq "")
{
$cik num = '.';
}
}
if ((index(Sclean, 'CENTRAL INDEX KEY:') != -1) && Scount == 0 &&
Sdonel3 == 0 && Sfirst cik == 0) {
$cik num filer = Sclean;
$cik num filer =~ s/["0-91//g;
Sdonel3 = 1;
if (Scik num filer eq "")
{
$cik num filer = '.';
}

}
if ((index(S5clean, 'DATE AS OF CHANGE:') !'= -1) && Scount == 0 &&
Sdone9 == 0) {

Sdateofchange = $clean;

Sdateofchange =~ s/["0-9]1//9g;

Sdone9 = 1;

if (Sdateofchange eq "")

{

Sdateofchange = '.';

}
}
if ((index(lc(Sclean), 'investor agreement') '= =1) && Scount ==
&& Sdonell == 0) {

Sdonel0 = 1;

Sagreement = 1;
}
if ((index(lc(Sclean), 'investor contract') '= -=1) && Scount == 0 &&

Sdone84 == 0) {
Sdone84 = 1;
$investor contract = 1;
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}
if ((index(lc(Sclean), 'stockholder contract') '= =1) && Scount ==
&& Sdone8S == 0) {
Sdone85 = 1;
$stockholder contract = 1;
}
if ((index(lc(Sclean), 'cooperation agreement') '= =1) && Scount ==
0 && Sdonell == 0) {
Sdonell = 1;
Scooperation = 1;
}
if ((index(lc(Sclean), 'investor rights') '= -=1) && Scount == 0 &&
Sdonel2 == 0) {
Sdonel2 = 1;
Srights = 1;
}
if ((index(lc(Sclean), 'exchange agreement') '= =1) && Scount ==
&& Sdonelld == 0)
Sdoneld = 1;
Sexchange = 1;
}
if ((index(lc(Sclean), 'investment agreement') = =1) && Scount == 0
&& Sdonedd == 0) {
Sdoned0 = 1;
S$investment agreement = 1;
}
if ((index(lc(Sclean), 'investment contract') != -1) && Scount ==

&& Sdone83 == 0) {
Sdone83 = 1;

$investment contract = 1;
}
if ((index(lc(Sclean), 'covenant') '= -1) && Scount == 0 && Sdone’2b
==O){
Sdone25 = 1;
Scovenant = 1;
}
if ((index(lc(Sclean), 'agreement') != =1) && Scount == 0 && Sdone26
==O){
Sdone26 = 1;
Sany agreement = 1;
}
if ((index(lc(Sclean), 'contract') !'= -1) && Scount == 0 && Sdone2’
==O){
Sdone27 = 1;
Scontract = 1;
}
if ((index(lc(Sclean), 'merger') !'= -1) && Scount == && Sdone28 ==
0) {
Sdone28 = 1;
Smerger = 1;
}
if ((index(lc(Sclean), 'acquisition') '= -=1) && Scount == 0 &&

Sdone29 == 0) {
Sdone29 = 1;

Sacquisition = 1;
}
if ((index(lc(Sclean), 'tender') !'= -1) && Scount == && Sdonel30 ==
0) {
Sdone30 = 1;
Stender = 1;
}
if ((index(lc(Sclean), 'tender offer') '= -=1) && Scount == 0 &&
Sdone34 == 0) {

Sdone34 = 1;
Stender offer = 1;
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if ((index(lc(Sclean), 'shelf') = -1) && Scount == 0 && Sdonel3l ==
0) {
Sdone3l = 1;
Sshelf = 1;
}
if ((index(lc(Sclean), 'support agreement') '= =1) && Scount == 0 &&
Sdone33 == 0) {
Sdone33 = 1;

S$support agreement = 1;
}
if ((index(lc(Sclean), 'compensation') '= =1) && Scount == 0 &&
Sdonel37 == 0) {
Sdone37 = 1;
Scompensation = 1;
}
if ((index(lc(Sclean), 'executive compensation') != =1) && Scount ==
0 && Sdonel38 == 0) {
Sdone38 = 1;
Sexec compensation = 1;
}
if ((index(lc(Sclean), 'salary') !'= -=1) && Scount == 0 && Sdone39 ==
0) {
Sdone39 = 1;
S$Ssalary = 1;
}
if ((index(lc(Sclean), 'stockholder agreement') '= =1) && Scount ==
0 && Sdonedd == 0) {
Sdoned40 = 1;
$stockholder agreement = 1;
}
if ((index(lc(Sclean), 'financial covenant') '= =1) && Scount ==
&& Sdoned?2 == 0) {
Sdoned2 = 1;
Sfcovenant = 1;
}
if ((index(lc(Sclean), 'affirmative covenant') = -1) && Scount ==
&& Sdoned3 == 0) {
Sdoned3 = 1;
Sacovenant = 1;
}
if ((index(lc(Sclean), 'negative covenant') '= =1) && Scount == 0 &&
Sdoned4d == 0) {
Sdoned4 = 1;
Sncovenant = 1;
}
if ((index(lc(Sclean), 'confidential') !'= -1) && Scount == 0 &&

Sdoned5 == 0) {
Sdoned5 = 1;
$info confidential = 1;
}
if ((index(lc(Sclean), 'confidentiality') '= =1) && Scount == 0 &&
Sdoned6 == 0) {
Sdonedo = 1;
$info confidentiality = 1;

}
if ((index(lc(Sclean), '"information rights') '= =1) && Scount ==
&& Sdoned’] == 0) {
Sdoned7 = 1;
$info informationrights = 1;
}
if ((index(lc(Sclean), 'access and information') != =1) && Scount ==
0 && Sdoned8 == 0) {
Sdoned8 = 1;
$info accessandinfo = 1;
}

if ((index(lc(Sclean), 'access to information') '= =1) && Scount ==
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0 && Sdoned9 == 0) {
Sdoned9 = 1;

$info accesstoinfo = 1;
}
if ((index(lc(Sclean), 'access to documents') '= =1) && Scount ==
&& SdonebH0 == 0) {
Sdone50 = 1;
$info accesstodocs = 1;
}
if ((index(lc(Sclean), 'visit and inspect') '= -=1) && Scount == 0 &&
Sdoneb1 == 0) {
Sdonebl = 1;
$info visitinspect = 1;
}
if ((index(lc(Sclean), 'communication') != -1) && Scount == 0 &&
Sdoneb2 == 0) {
Sdoneb2 = 1;
$info communication = 1;
}
if ((index(lc(Sclean), 'communicate') !'= -1) && Scount == 0 &&

Sdoneb3 == 0) {
Sdoneb3 = 1;

$info communicate = 1;
}
if ((index(lc(Sclean), 'communication with accountant') = =1) &&
Scount == 0 && Sdoneb4 == 0) {
Sdoneb4 = 1;
$info communicationacct = 1;
}
if ((index(lc(Sclean), 'non-disclosure agreement') = =1) && Scount
== (0 && Sdonebb == 0) {
Sdoneb5 = 1;
$info nda = 1;
}
if ((index(lc(Sclean), 'full access') != -1) && Scount == 0 &&

Sdoneb56 == 0) {
Sdoneb6 = 1;
$info fullaccess = 1;
}
if ((index(lc(Sclean), 'books') = -1) && Scount == 0 && Sdoneb’/ ==
0) {
Sdoneb7 = 1;
$info books = 1;
}
if ((index(lc(Sclean), 'investment purpose') '= =1) && Scount ==
&& Sdonebs8 == 0) {
Sdoneb8 = 1;
$investment purpose = 1;
}
if ((index(lc(Sclean), 'shareholder contract') = =1) && Scount == 0
&& Sdoneb9 == 0) {
Sdoneb59 = 1;
$shareholder contract = 1;
}
if ((index(lc(Sclean), 'return on asset') !'= -1) && Scount == 0 &&
Sdone6l0 == 0) {
Sdoneoc0 = 1;
Sroa = 1;
}
if ((index(lc(Sclean), 'return on equity') '= =1) && Scount == 0 &&
Sdoneol == 0) {
Sdoneobl = 1;
Sroe = 1;
}
if ((index(lc(Sclean), 'net income') != -1) && Scount == 0 &&
Sdone62 == 0) {
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Sdoneb62 = 1;

Snet income = 1;
}
if ((index(lc(Sclean), 'earning') !'= -1) && Scount == 0 && Sdone63
== 0) {
Sdone63 = 1;
Searnings = 1;
}
if ((index(lc(Sclean), 'revenue') '= -1) && Scount == 0 && Sdone6d
== 0) {
Sdoneocd = 1;
Srevenue = 1;
}
if ((index(lc(Sclean), 'sales') !'= -1) && Scount == 0 && Sdonebtbh ==
0) {
Sdonebb5 = 1;
Ssales = 1;
}
if ((index(lc(Sclean), 'cash flow') !'= -1) && Scount == 0 && Sdoneb6t
== 0) {
Sdoneb6 = 1;
Scash flow = 1;
}
if ((index(lc(Sclean), 'interest coverage') '= -=1) && Scount == 0 &&
Sdone67 == 0) {
Sdoneb7 = 1;
Sinterest coverage = 1;
}
if ((index(lc(Sclean), 'interest') !'= -1) && Scount == 0 && S$done68
== 0) {
Sdone68 = 1;
Sinterest = 1;
}
if ((index(lc(Sclean), 'net worth') !'= -1) && Scount == 0 && Sdone6?
== 0) {
Sdone69 = 1;
Snet worth = 1;
}
if ((index(lc(Sclean), 'debt') !'= -1) && Scount == 0 && Sdone’0 ==
) |
Sdone70 = 1;
Sdebt = 1;
}
if ((index(lc(Sclean), 'leverage') != -1) && Scount == 0 && Sdone’l
== 0) {
Sdone7l1 = 1;
Sleverage = 1;
}
if ((index(lc(Sclean), 'current ratio') = -1) && Scount == 0 &&
Sdone72 == 0) {
Sdone72 = 1;
Scurrent ratio = 1;
}
if ((index(lc(Sclean), 'assets') != =1) && Scount == 0 && Sdone’/3 ==
0) {
Sdone73 = 1;
Sassets = 1;
}

if ((index(lc(Sclean), 'debt to cash') !'= -1) && Scount == 0 &&
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Sdone74 == 0) {
$done74 = 1;
s$debt to cash flow = 1;

}
if ((index(lc(Sclean), 'ebit') !'= -1) && Scount == 0 && Sdone’b ==
) |
Sdone75 = 1;
Sebit = 1;
}
if ((index(lc(Sclean), 'ebitda') !'= -1) && Scount == 0 && Sdone’/6 ==
0) {
Sdone76 = 1;
Sebitda = 1;
}
if ((index(lc(Sclean), 'debt service') != -1) && Scount == 0 &&
Sdone77 == 0) {
Sdone77 = 1;
$debt service = 1;
}
if ((index(lc(Sclean), 'book wvalue') !'= -1) && Scount == 0 &&
Sdone78 == 0) {
Sdone78 = 1;
S$book value = 1;
}
if ((index(lc(Sclean), 'shareholder agreement') != -1 or index (lc(
Sclean), "shareholders' agreement") != -1 or index(lc(Sclean),
'shareholders agreement') != =1) && Scount == 0 && Sdone’9 == 0) {
Sdone79 = 1;
$shareholder agreement = 1;
}
if ((index(lc(Sclean), 'dividend') '= -1) && Scount == 0 && S$doned0
==O){
Sdone80 = 1;
Sdividend = 1;
}
if ((index(lc(Sclean), 'payout') != =1) && Scount == 0 && Sdonedl ==
0) {
Sdone81 = 1;
Spayout = 1;
}
if ((index(lc(Sclean), 'distribut') !'= -1) && Scount == 0 && S$doned2
==O){
Sdone82 = 1;
Sdistribut = 1;
}

# This gets the item information attribute from the 8k ;
# NOTE: As above, much of this information is later cross-checked
with data from WRDS SEC Analytics.;
if ((index(Sclean, 'CONFORMED SUBMISSION TYPE:') = -1) && Scount ==
0 && Sdoneb == 0) {
Sitem info = le(substr(sclean, 27, Sslength)); # This gets the
item info and makes it lower case for ease of coding later;
# Trim extra whitespace from the item info;
Sitem info =~ s/"\s+//; # From left;
Sitem info =~ s/\s*$//; # From right;
Sitem line = S$lines;
$item info =~ s/[|1+//9;
$doneb5 = 1;
if (Sitem info eq "")



628 {

629 Sdone5 = 3; # I don't want the program to look any further if
there isn't a second item;
630 S$item info = '.';
631 }
632 }
633 if ((index(Sclean, 'COMPANY CONFORMED NAME: ') '= -=1) && Scount ==
&& Sdonelb == 0) {
634 Sitem info2? = le(substr(Sclean, 25, Sslength)); # This gets the
item info and makes it lower case for ease of coding later;
635 # Trim extra whitespace from the item info;
636 $item info2 =~ s/"\s+//; # From left;
637 S$item info2 =~ s/\s*$//; # From right;
638 Sitem line = S$lines;
639 $item info2 =~ s/[|1+//9;
640 $donel5 = 1;
641 $first name = 1;
642 if (Sitem info? eq "")
643 {
644 Sdonel5 = 3; # I don't want the program to look any further
if there isn't a second item;
645 S$item info2 = '.';
646 }
647 }
648 if ((index(Sclean, 'COMPANY CONFORMED NAME:') != -1) && Scount == 0
&& Scdonel6 == 0 && Sfirst name == 0) {
649 Sitem info3 = le(substr(Sclean, 25, Sslength)); # This gets the
item info and makes it lower case for ease of coding later;
650 # Trim extra whitespace from the item info;
651 S$item info3 =~ s/"\s+//; # From left;
652 $item info3 =~ s/\s*$//; # From right;
653 Sitem line = S$lines;
654 $item info3 =~ s/[|]1+//9g;
655 Sdonelo = 1;
656 if (Sitem info3 eq "")
657 {
658 Sdonel6 = 3; # I don't want the program to look any further
if there isn't a second item;
659 $item info3 = '.';
660 }
661 }
662 if ((index(Sclean, 'CITY:') '= -1) && Scount == 0 && Sdoned == 1 &&
Sdonel7 == 0) {
663 Sitem info4 = le(substr(Sclean, 7, Sslength)); # This gets the
item info and makes it lower case for ease of coding later;
664 # Trim extra whitespace from the item info;
665 $item infod =~ s/"\s+//; # From left;
666 S$item infod4 =~ s/\s*$//; # From right;
667 Sitem line = S$lines;
668 $item infod =~ s/[|1+//9;
669 Sdonel7 = 1;
670 if (Sitem info4 eq "")
671 {
672 Sdonel7 = 3; # I don't want the program to look any further
if there isn't a second item;
673 Sitem infod4 = '.';
674 }
675 }
676 if ((index(Sclean, 'CITY:') !'= -1) && Scount == 0 && Sdonelb ==
&& Sdonel8 == 0) {
677 Sitem info5 = le(substr(Sclean, 7, Sslength)); # This gets the
item info and makes it lower case for ease of coding later;
678 # Trim extra whitespace from the item info;
679 S$item infob5 =~ s/"\s+//; # From left;
680 S$item infob5 =~ s/\s*$//; # From right;

681 Sitem line = S$lines;
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if
&&

if

$item info5 =~ s/[|1+//9;

Sdonel8 = 1;

if (Sitem info5 eq "")

{
Sdonel8 = 3; # I don't want the program to look any further
if there isn't a second item;
S$item info5 = '.';

}
((index(Sclean, 'STATE:') !'= -1) && Scount == 0 && Sdonel9 == 0)

Sitem info6 = le(substr(Sclean, 8, Sslength)); # This gets the

item info and makes it lower case for ease of coding later;

# Trim extra whitespace from the item info;

Sitem info6 =~ s/"\s+//; # From left;

Sitem info6 =~ s/\s*$//; # From right;

Sitem line = S$lines;

$item info6 =~ s/[|1+//9;

Sdonel9 = 1;

if (Sitem infob6 eq "")

{
Sdonel9 = 3; # I don't want the program to look any further
if there isn't a second item;

Sitem info6 = '.';
}
((index(Sclean, 'STATE:') = =1) && Scount == 0 && Sdonelo ==
Sdone20 == 0) {

Sitem info’7 = le(substr(Sclean, 8, Sslength)); # This gets the
item info and makes it lower case for ease of coding later;
# Trim extra whitespace from the item info;
Sitem info7 =~ s/"\s+//; # From left;
Sitem info7 =~ s/\s*$//; # From right;
Sitem line = S$lines;
$item info7 =~ s/[|1+//9;
Sdone20 = 1;
if (Sitem info7 eq "")
{
Sdone20 = 3; # I don't want the program to look any further
if there isn't a second item;
S$item info7 = '.';

}

((index(Sclean, 'ZIP:') '= -1) && Scount == 0 && Sdone2l == 0) {
Sitem info8 = le(substr(Sclean, index(Sclean, 'ZIP:')+4)); #
This gets the item info and makes it lower case for ease of
coding later;
# Trim extra whitespace from the item info;
Sitem info8 =~ s/"\s+//; # From left;
Sitem info8 =~ s/\s*$//; # From right;
Sitem line = S$lines;
$item info8 =~ s/[|1+//g9;
Sdone2l = 1;
sfirst zip = 1;
if (Sitem info8 eq "")
{
Sdone2l = 3; # I don't want the program to look any further
if there isn't a second item;

S$item info8 = '.';
}
if ((index(Sclean, 'ZIP:') '= -1) && Scount == 0 && Sdonelo == 1 &&
Sdone2? == 0 && Sfirst zip == 0) {

Sitem info9 = le(substr(Sclean, index(Sclean, 'ZIP:')+4)); #
This gets the item info and makes it lower case for ease of
coding later;
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# Trim extra whitespace from the item info;

Sitem info9 =~ s/"\s+//; # From left;

Sitem info9 =~ s/\s*$//; # From right;

Sitem line = S$lines;

$item info9 =~ s/[|1+//9;

Sdone22 = 1;

if (Sitem info9 eq "")

{
Sdone22 = 3; # I don't want the program to look any further
if there isn't a second item;

$item info9 = '.';
}
}
if ((index(Sclean, 'CUSIP:') !'= -1) && Scount == 0 && Sdone23 == 0)
{
Sitem infol0 = le(substr(Sclean, 7, 17)); # This gets the item
info and makes it lower case for ease of coding later;
# Trim extra whitespace from the item info;
Sitem infol0 =~ s/"\s+//; # From left;
Sitem infolO =~ s/\s*$//; # From right;
Sitem line = S$lines;
$item infol0 =~ s/[|]1+//g;
Sdone23 = 1;
if (Sitem infolD eq "")
{
Sdone23 = 3; # I don't want the program to look any further
if there isn't a second item;
$item infol0 = '.';
}
}
if ((index(S5clean, 'CUSIP No.') != -1) && Scount == 0 && Sdone2d ==
0) {
# Trim extra whitespace from the item info;
Sclean2 = S$clean;
Sclean? =~ s/"\s+//; # From left;
Sclean?2 =~ s/\s*$//; # From right;
Sitem infoll = le(substr(Sclean?, 8, 18)); # This gets the item
info and makes it lower case for ease of coding later;
# Remove any symbols from the line;
$item infoll =~ s/[\S$#Q@~'&* (O\[\1;.,:2" "\\\/1+//g;
# Trim extra whitespace from the item info;
Sitem infoll =~ s/"\s+//; # From left;
Sitem infoll =~ s/\s*$//; # From right;
Sitem line = S$lines;
$item infoll =~ s/[|]1+//g;
Sdone24 = 1;
if (Sitem infoll eq "")
{
Sdone24 = 3; # I don't want the program to look any further
if there isn't a second item;
$item infoll = '.';
}
}

# Now look for the percentage ownership.;

# NOTE: Ownership data is later cross-checked with Audit Analytics.;
if ((((index(lc(Sclean), 'percent of class') !'= =1) || (index(lc(
Sclean), 'item 13') '= =1) || (index(lc(Sclean), 'percent of
class') '= =1) || (index(lc(Sclean), 'class represented') != =1))
&& Scount == 0 && Sdone32 == 0 && Spercent count < 25) || (
Spercent search == 1 && Spercent count < 25)) {

# This will cause the loop to search to the next line if it
doesn't find the percentage held initially;

Spercent count++; # This keeps track of how many lines we've
searched for the percentage for. We want to max out at 3 lines;
Spercent search = 1;

Sclean2 = S$clean;
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# Trim extra whitespace from the item info;

Sclean? =~ s/"\s+//; # From left;

Sclean?2 =~ s/\s*$//; # From right;

Spercent "s";

Scolon = ":";

# First, start looking at string after the number 11 appears,
which comes up on the line for ownership size;

Spercent location = index(Sclean?, Spercent);

Scolon location = index(Sclean?, Scolon);

if (Spercent location != -1)

{

Sdone32 = 1;

$percent search = 0;

Spercent locationm = Spercent location - 6;

Spercent length = 7;

if (Scolon location != - 1) { Spercent locationm =
$colon location + 1; }

if (Spercent locationm < 0) { Spercent locationm = 0; }
Spercent length = Spercent location - S$percent locationm;
Spercent extract = le(substr(Sclean?, Spercent locationm,
Spercent length));

$percent extract =~ s/["0-9.]1//g;

Spercent extract =~ s/"\s+//; # From left;

Spercent extract =~ s/\s*$//; # From right;

$percent extract =~ s/[[]1+//g;

}

#Now fook for fund source;

if ((((index(lc(Sclean), 'source of') !'= -1) || (index(lc(Sclean),
'source of') !'= -1) || (index(lc(Sclean), 'of funds') = =1) || (
index(lc(Sclean), 'of funds') !'= -1)) && Scount == 0 &&
Sfund source count < 5) || (Sfund source search == 1 &&

Sfund source count < 11)) {

# This will cause the loop to search to the next line if it
doesn't find the percentage held initially;

S$fund source count++; # This keeps track of how many lines
we've searched for the percentage for. We want to max out at 3
lines;

$fund source search = 1;

# If this is its last try then make sure it stops looking;

if (Sfund source count == 11) { S$fund source count = 0;

$fund source search = 0; }

# Now check for the various types of funds;

if ((index(Sclean, 'SC') '= -1)) { Ssource of funds = 'SC';
$source sc = 1; $fund source search = 0; $fund source count= 0;
if ((index(Sclean, 'BK') '= -1)) { Ssource of funds = 'BK';
$source bk = 1; $fund source search = 0; $fund source count= 0;
}

if ((index(Sclean, 'AF') '= -1)) { Ssource of funds = 'AF';
$source af = 1; $fund source search = 0; $fund source count= 0;
}

if ((index(Sclean, 'WC') '= -1)) { Ssource of funds = 'WC';
$source wc = 1; $fund source search = 0; $fund source count= 0;
}

if ((index(Sclean, 'PE') '= -1)) { Ssource of funds = 'PF';
$source pf = 1; $fund source search = 0; $fund source count= 0;
}

if ((index(Sclean, '00") '= -1) || (index(Sclean, '00") '= -1))
{ Ssource of funds = 'O0'; S$source oo = 1; $done35 = 1;

$fund source search = 0; $fund source count= 0; }

#Now fook for type of reporting person;

if ((((index(lc(Sclean), '"type of reporting') '= =1) || (index(lc(
Sclean), 'of reporting') !'= =1) || (index(lc(Sclean), 'reporting
person') '= =1) || (index(lc(Sclean), 'reporting persons:') = =1)
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}

(index (lc(Sclean), 'reporting persons') !'= =1) || (index(lc(

Sclean), 'reporting person:') !'= =1) || (index(lc(Sclean),
'reporting person') !'= -1) || (index(lc(Sclean), 'type of
reporting') !'= -1)) && Scount == 0 && Sreporting type count < 11)
Il (Sreporting type search == 1 && Sreporting type count < 11)) {

# This will cause the loop to search to the next line if it
doesn't find the percentage held initially;
Sreporting type count++; # This keeps track of how many lines
we've searched for the percentage for. We want to max out at 3
lines;

Sreporting type search = 1;

# If this is its last try then make sure it stops looking;
if (Sreporting type count == 10) { Sreporting type count = 0;
Sreporting type search = 0; }

# Now check for the various types of

funds;

if (Sclean =~ /\bBD\b/) { S$reporting type = 'BD';
Sreporting type bd = 1; Sreporting type search = 0;
Sreporting type count = 0; }

if (Sclean =~ /\bBK\b/) { S$reporting type = 'BK';
Sreporting type bk = 1; Sreporting type search = 0;
Sreporting type count = 0; }

if (Sclean =~ /\bIC\b/) { S$reporting type = 'IC';
Sreporting type ic = 1; Sreporting type search = 0;
Sreporting type count = 0; }

if (Sclean =~ /\bIV\b/) { S$reporting type = 'IV';
Sreporting type iv = 1; Sreporting type search = 0;
Sreporting type count = 0; }

if (Sclean =~ /\bIA\b/) { S$reporting type = 'IA';
Sreporting type ia = 1; Sreporting type search = 0;
Sreporting type count = 0; }

if (Sclean =~ /\bEP\b/) { S$reporting type = 'EP';
Sreporting type ep = 1; Sreporting type search = 0;
Sreporting type count = 0; }

if (Sclean =~ /\bHC\b/) { S$reporting type = 'HC';
Sreporting type hc = 1; Sreporting type search = 0;
Sreporting type count = 0; }

if (Sclean =~ /\bSA\b/) { S$reporting type = 'SA';
Sreporting type sa = 1; Sreporting type search = 0;
Sreporting type count = 0; }

if (Sclean =~ /\bCP\b/) { S$reporting type = 'CP';
Sreporting type cp = 1; Sreporting type search = 0;
Sreporting type count = 0; }

if (Sclean =~ /\bCO\b/) { S$reporting type = 'CO';
Sreporting type co = 1; Sreporting type search = 0;
Sreporting type count = 0; }

if (Sclean =~ /\bPN\b/) { S$reporting type = 'PN';
Sreporting type pn = 1; Sreporting type search = 0;
Sreporting type count = 0; }

if (Sclean =~ /\bIN\b/) { S$reporting type = "IN';
Sreporting type in = 1; Sreporting type search = 0;
Sreporting type count = 0; }

if (Sclean =~ /\bOO\b/ || $clean =~ /\b00\b/) { Sreporting type
= '0O0'; Sreporting type oo = 1l; Sreporting type search = 0;
Sreporting type count = 0; }

## End textual analysis;

}

# Perl counts a new line as a space, so I adjust for this;

Scharsadjusted = $chars - S$lines + 1;

print FILE2 "S$filename|$item info|$doccount|Scik num|$item info2|$item info4 |
Sitem info6|$item info8|Sitem infolO|Sitem infoll|S$cik num filer|Sitem info3|
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}

Sitem info5|Sitem info7|Sitem info9|$lines|Swords|Scharsadjusted|$filedate]
Sconformdate| $dateofchange|Sagreement |Sinvestment contract|$stockholder contract
| Scooperation|Srights|Sexchange|Scovenant|$investor contract|Sany agreement|
Scontract|$support agreement|$Sinvestment agreement|S$stockholder agreement|
Smerger|Sacquisition|$tender|Stender offer|Sshelf|Spercent extract|Scompensation
| Sexec_compensation|$salary|$source sc|$source bk|$Ssource af|$source wc|

S$source pf|S$source oo|Sreporting type bd|$reporting type bk|Sreporting type ic|
Sreporting type iv|Sreporting type ia|S$reporting type ep|S$reporting type hc|
Sreporting type sa|Sreporting type cp|S$reporting type col$reporting type pn|
Sreporting type in|Sreporting type oo|S$fcovenant|$acovenant|$ncovenant|

$info confidential|S$info confidentiality|$info informationrights]
$info_accessandinfo|$info accesstoinfo|$info accesstodocs|$info visitinspect|
$info communication|$info communicate|$info communicationacct|$info nda|

$info fullaccess|$info books|$investment purpose|$shareholder contract|Sroa|Sroe
|Snet income|Searnings|$revenue|S$sales|$Scash flow|Sinterest coverage|S$Sinterest|
Snet worth|Sdebt|Sleverage|Scurrent ratio|$Sdebt to equity|Sassets|

Sdebt to cash flow|Sebit|Sebitdal|$debt service|S$book value|

$shareholder agreement|$dividend|$payout|Sdistributi\n”;

print "S$filename done. ($filecount of $totallines)\n";

close (RES);

close (FILEZ2);
close (FILE4);
print "\nkEnd\n\n";



